10- Middle-aged 8- Elderly

f} —_—

(O] T QO 6-

2 X

- 5 )

N = . 4

o " P

s S 26T
O 2.6 e 5 2-

-l - -l

£ 1 £

0

S I s 0 1

o o

- -l

()] _26_ ................................................ o) _2 -
(7] ) 2.6 - e

-5 | J -4 T T
2 5 2 5
Day Day
Figure $3. SDLP difference to placebo [cm] on Day 2 and 5, middle-aged Data are LSM (97.5% CI). CI = confidence interval,
and elderly subgroup separated (n=28-30) LSM = least square mean, SDLP = standard

ACT-541468 50 mg ® ACT-541468 100 mg deviation of the lateral position



